
Support Rail Installation Guide

Parts List

A. B. C.

D. E.

A) Assist Rail 

B) Baffle

C) M8x40 Hex Screw (x3)

D) M8x65 Hex Screw (x3)

E) Hex Key

Align the assist rail with the mounting holes on the left side of the bed. Secure it in place with the M8x65 
hex screws. Use the hex key to tighten.

Only remove the support 
rail cover to wash. Replace 
immediately before using. 
Using the bed without the 
support rail cover may 
increase the risk of serious 
injury.

Installation is complete.

1

2

Installation

If only installing one support rail, be sure to install the bolster on the opposite side to keep 
the mattress in its place and prevent entrapment hazards. To install the support rail, align the 
baffle with the mounting holes on the opposite side of the bed. Secure it using the M8x40 hex screws.  
Use the hex key to tighten.

https://manuals.plus/m/f0b1db7ae83a48d9724f480a4c22eb280a149768d91c928f38463b09e182f93c

